1.   Determine whether or not matrix B is the inverse of matrix A.   A and B are both inside their respective bracket.
         [0   -2]                       [1/6   -5/18]

   A=                              B=

         [9    1]                       [-1/6     1/3]

2.  Which is a singular matrix?

        [ 2    4]

a.     [-4  -8]

        [3     4]

b.     [-5  -6]

c.     [ 5    3]

        [ -2 -6]

d.     [ 1    7]

        [-3  -4]

3.  If possible, solve the systems of equations using an inverse matrix.

     { -10x – 6y = 6

           7x + y = -7

4.  Find the gross production of consumer goods and luxury goods needed to satisfy the market demand of 21 units of consumer goods and 18 units of luxury goods.  The input-output matrix is given by:


P
P


 1
 2

            [0.3      0.3] P

  A=          
        1

            [0.6     0.7]  P

                                 2

P = Consumer Goods; P   = Luxury Goods

 1


   2

5.  Use elementary row or column operations to evaluate the determinant “l” are a straight line.  The following is a matrix.

    l    8        6         6    l

    l    7       11      12    l

    l    12      10       9    l

